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fafay

(VARIOUS)

1. vgar e, R die W 3uAT 9% v o1, @ () Pad13iR3 d) 1,239R3
The first man who placed his foot on the moon: is 1 and 3 only 1,2and3
(a) e (b) T =T
Leonov Neil Armstrong 6. mﬁvﬁvwﬁm%wﬂﬁ,ﬁﬁqwmﬁr
(c) WEHd D™ (d) ST dTTAA R fdaR Ffoe : . _
Michael Collins James Van Allen 1) “EVEI JPTRI-dIeEI 5_' K T # yar & o e
RafereTa dwd o1 gHar A FovT I 3371 Se® %
2. BRR 3@ A FafafeEa # & feae suait fasar smar gl
%’? Which of the following is used in fire alarm? 2) ;ﬁ? W-f 1{1? Ll ﬁﬁﬁTUT HRdg ;ﬁ? Wf &
CRIEIGI
(@) WA (b) T WI e :
Photo cell Water With reiﬂ? ?o sol-a“;'-r /:;v?eg:r?)f:uction in India
(© @T% @d 3 Ik ﬁﬁﬁ'ﬁc:ﬁﬁ consider the following statements:
Solar cell None of the above 1) India is the third largest in the world in the manufacture
o ) ) . of silicon wafers used in photovoltaic units.
3. mmwaﬁfiﬁ?m 2) The solar power tariffs are determined by the Solar
boiling point of liquids at high altitudes Energy Corporation of India.
(@) EEFIT% (b) ‘EIEFIT% Which of the statements given above is/are correct?
Grows Decreases (2) Fad1 (b) Fad2
() IHAHAIEAE (d) TeAH qIGuedls Lonly . 2 only
Remains the same decreases after increasing () 1 AR 2 Eﬁ:h (d) T 1, 7-[?[ 2
4. ﬁaﬁr@aﬁﬁﬁmwuﬁ’rgﬁﬁaqﬁ% Both 1 and 2 Neither 1 nor 2
aﬁTﬁﬁ? - Which of the following is not correctly matched? )
Discovery - 7. S P Aaa urger ford i R frar?
(a) saae-\r:{ a‘a’ UM (b) ﬁe—‘]’:{ mm Einstein got the Nobel Prize for
Electron J.J. Thomson Proton Michael Faraday (@ 3 féfehe (b) -3 EEé RRSCEE
©) QW—W ) ;qg‘l’:[amam relativity Bose-Einstein condensation
8@1@[?\!’?@:{ Neutron James Chadwick (c) WefdudSHul®! qdl  (d) YT faggd uuIa
X-ray W.C. Roentgen mass-energy equivalence photoelectric effect
1) UpTHT, WWHMT@HE’IHT%I f&ar TaT? Which of the following was invented by
Z)WWWW%l Wilhelm Roentgen?
3) Tard IR TRY OR F Rgew ) Refa @) (@) fea (b) TRIAAH
CRGIN Radio X-Ray
Iudad # & Teud MTHEIE & U1 & AT ) Tocich &1 ac d) SRFdHFI DS TR
REU & 'I-IﬁWQF{ ?ﬁq-'\"ﬂ/ﬁ %/%, foreat / Electric Bulb None of the above
e ura: TuTER Arene § fader a2 2
Consider the following phenomena: 9. AN TN Ful A & 5 TR ured 3d &2
1) Light is affected by gravity. The stars receive their energy from which of the
2) The Universe is constantly expanding. following?
3)Matter warps it surrounding space- time. 3 Iﬁﬁﬂ'@lﬁﬂ 1@?{%@7@7{
Which of the above is/are the prediction/ predictions of @ Tﬁf\wq ® (®) :le\ i Rl
Albert Einstein's General Theory of Relativity, often _ Nuclear fission
discussed in media? Nuclear fusion
(@ Faa1diRe2 (b) Faw3 (¢ rEmEHe fhard (d) Ty fEEE
1 and 2 only 3only Chemical reaction Gravitational pull
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10. 37 SATH U1 BT ATHI 19 8-
The common name of Higgs Boson particle is-

(@) SAFH (b) e
Electron Proton
(© TRTDU (d) TRHE]
God particle Atom
1. Tsufiépas:

God Particle’ is:
(@ =i (b) feEaNM
Neutrino Higgs Boson
() BEH (d) UifsieA
Meson Positron

12. FTHTH (crL) TUTTASS! (LED) AT T T 3felR 82
TR I 1 P g Hewea uRT-arey 3R Gdus
BT UGN BT 3, TP TAge! AU Srgarad ugrdf &1
TORT HRaT 3 |
Huwea ) i ofitaq-safy Tasst du @ sga
3P At B
TS el AU B ga- A Newud #9 Sul-9eH 3|
ITw A A PIH-AT/ P BYT Tl 2/8?

What is the difference between a CFL and an LED lamp?
1)To produce light, a CFL uses mercury vapour and
phosphorus while an LED lamp uses semi- conductor
material.

2)The average life span of a CFL is much longer than that of
an LED lamp.

3) A CFL is less energy efficient as compared to an LED
lamp.

Which of the statements given above is/are correct?

(@) hadi1 (b) Fad23R3
1 only 2and3
(c) PIA13MR3 (d 1,23R3

1 and 3 only 1,2and3

13. IWNT ® o gF wfadia fagga dv & sifdawyet
T & qTaTaRoT ® Ui @1 gargIsT AN Bt
T T URT ST U4 f5a1 S 22
Indiscriminate disposal of used fluorescent electric lamps
causes mercury pollution in the environment. Why is
mercury used in the manufacture of these lamps?

(a) URBITAUP AERAY (b)) oId oU DI Rag-3if foba

T T § Fore) vapr=r STl 8 A T & SR F
TAHER e a2 | TR & BRI RIS
Mercury coating on the inside of faull BT IS BT B |

the lamp makes the light bright ~ When the lamp is switched on,

white the mercury in the lamp causes
the emission of ultra-violet
radiations
() SEdUH fRE-efear (d) UR P ufadia uH uhn
ST § &l URT &) TRIa =T & IR T I IS oft
Sroll ) T2 UebT B HYT ! Tel 5
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e g gl None of the statement given
When the lamp is switched on, it above is correct about the use of
is the mercury which converts mercury in the manufacture of
the ultra-violet energy into fluorescent lamps
visible light

14. FrafafEa $y=i w AR Fife:
fowa ©u 9 wgea wiiifde w@am, ™R fgerh
W $gd &, qTd ARl arar grar g |
TR AT Bt AR 256 Hz Fiedl § MR TR it 3t g
512 Hz BIeT 81
ST HYAI | I DI-91/9 T 3/3?
Consider the following statement:
1) A widely used musical scale called diatonic scale has
seven frequencies.
2)The frequency of the note 'Sa' is 256 Hz and that of ‘Ne’

is 512b Hz

Which of the statement given above is/are correct?
(@) a1 (b) Had2
1only 2 only
) 13R23H d) Ad13RTE 2
Both 1 and 2 Neither 1 nor 2

15. Hd: WART | arf 91+ areft wiadifey eg@arse ®
fFrafafEa % Q #19 w sifea giar 82
Which one of the following is printed on a commonly used
fluorescent tube light?

(@) 220K (b) 273K

(c) 6500K (d) 9000K

16. FafafEa $y= ) AR $ifve: e JyRr faeed
& o9 BT ULTPHd 3IeY Siia- gldT g Flfh-
1) fraTi~ $T IR THEA 81 giaT |
2) goq uf & u A fatfoa =2 forar s wwan |
¥ YEUP IR I a19 R frae o &
Gtrgaamuq‘rﬁﬁﬁq DI A HYT AL 72
Consider the following statements: An ordinary light bulb
has a rather short life because the
1) Filament wire is not uniform.
2) Bulb cannot be evacuated completely.
3) Wires supporting the filament melt at high temperature.
Which of the above statements are correct?

(@ 13R3 (b) 23iR3
land3 2and3
) 13R2 d 1,23MR3
land?2 1,2and3

17. ATHIY SgadATge A HIH- A gt 82

Which gas is there in a common tube light?
(2) SMAFIUATAIR (b) [ S Iy AfsTHIwR
Argon with sodium vapour Neon with sodium vapour

() SMAFIYADIIR  (d) TP Y AHL IW

Argon with mercury vapour Neon with mercury vapour
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18. HYH (A) : ATEC AT SIS (Ua £ .8Y) dw, didie
RN aW (H.uw.ud.) @ awlt @l a% Jar
UM PHRd ¢ | ga-T | ifire 5
PRUT (R) : ATSe YAUTET TS (var.g.3t) dw, i
FRNT aw (@ Te. Ta. ) Bt gar d e et
T T T
= f3d T gl @1 Teradr 9 HE SW BT 999 P
Assertion (A): Light Emitting Diode (LED) offers longer
service life as compared to Compact Florescent Lamp
(CFL).

Reason (R): Light Emitting Diodes (LED) lamps are more
energy efficient as compared to Compact Florescent Lamp
(CFL).

Select the correct answer using the codes given below:

(@) FPYTATUIBRURGHA (b)) HYTATIBRUIR A

D § TUTHRUTR HYT A I g AfbT PRUIR,
BT IE! WHHRUI B | FHYT A BT UG! WPIHT
Both A and R are individually T gl

true and R is the correct
explanation of A

Both A and R are individually

true but R is not a correct

explanation of A

) PUTATISTUBRUR (d) HUTA Y & IUT PRI
AR RITEI

Ais true but R is false Ais false but R is true

19. Fufafed wal § @ 59 @ & 91y 98 cmvk
TERE %? To which one of the following processes is
term CMYK related?

(a) Ad b (b) SEEITE
Railway Signalling Navigation
€ SiedcHgau () Sde® AdeH FLH

Offset printing

20. St & w3 ® fu & & %9 fbar & SR 7@ avsT

?FHT%? In an earth pitcher, the water remains cold due to
the process of:

Electronic voting machine

(@) =du (b) arfiHROr
Condensation Evaporation

() IsauraH d) SHFHAIBIS TS
Sublimation None of the above

21. AR TP g & s g1 Saua fran sian @ -

Laser is a device for producing
(a) a: fafasor (b) au fqaiftd fafezor
Spontaneous radiation Dispersed radiation
(c) Wil fafaur (d) eI fafesur

Scattered radiation

22. TAIfeId paATs giSyl A SHolf fAadi & -

In Automatic wrist watches, energy is provided by-

Stimulated radiation

(@) PEATSY () HA
Manual binding Battery
) wafread (d) BUR TP fafta Jaa=

Liquid crystal 9
Different movements of our
hands

23. TSP R TG B AU I U T B3 § TN P-
It is harder to move on ice as compared to road because-

(@) THhISHIATECAE (b)) TSP I I TTA NN g

Ice is harder than road Road is harder than ice

(c) VEBHITHWRIYTHT (d) b HISH DI 3T
&0 & @ It PIS wfaferan 01 1 BT 7
CEREHERGI] Ice has less friction as compared

When we push by our feet then  to road
ice does not react

24. A & Wbd o FAfyd g & a1g T fra w@a,

- The signal of Doordarshan cannot be received after
a definite distance, because-

(2) WPhdGEAE! (b) TG

Weak signal Weak antenna

) TGIPABIMMAB () YD GIE IPBR 8
@?ﬁ% The surface of earth is spherical

Air absorbs signal

25. &HATS B WGl W U 100ec F 9 & qTUHT W H)
m%? Why water boils below 1002C at high altitude?
(a) Hifs IYATSHAGEd (b)) HITh HATHYT HH
& gl STl 3, 3(dl: SFeH HGI
&1 fog 1 ST ST g
Boiling point comes down due to
low atmospheric pressure

) UddWRYDgaei®s  (d) IWedHI B Tl
DRI None of the above
Heavier air at mountains

26. e TP oTgTol I¢) A TS H U BT g al-

If a ship enters into sea from river then-

Due to less gravity

(@) RRIEm () SJWISM
Remains steady Move upward

(©) mRfddagm d) RgaSRm
Remains unchanged Will sink

27. fFafafea 7 Q o9 Nda & faga T srars?

Which one of the following does not deform protein?

(@ St (b)  3fARad-fdhRol
Heat Infrared rays

(c) Tx-foxul (d) YRIYIg-qqur
X-rays Heavy metal salt

28. TP AfdT T& HAGTMNA (Sensitive) RIS, IR TST B
gfe 9 Ted A 35X AT 8 °l aRI B /ST
A man is standing on a sensitive balance. If he inhales
deeply, the reading of the balance
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(@ et (o) T

Increases decreases

© W STTRIZUUGTS (d) T8 T AT g
g a’rg,nsrvﬂumwﬁlh

may increase or decrease
depending on the atmospheric
pressure

|aﬁasﬁ||ﬁgﬁﬁaaﬂﬁqamqﬁm%=ﬁ%%a
He | HET I P19 Biford
T @ iRl @R v
ASHAIGd 1. FRIFBT
.M »fufagga 2. Tfeig fRuaex
CETHNHASH 3. ASSEB
DY ASHI TG USRI 4. R AA
Match List | with List Il and select the correct answer using the
codes given below:
List-1 (Energy Transformation) List-l ( Device / Process)
A. Heat to electrical 1. Car breaking
B. Electrical to sound 2. Nuclear reactor
C. Mass to heat 3. Loud speaker

remains unaffected

D. Chemical to heat and light 4. Solar cell
(& ABCD1234 (b) ABCD4325
(c) ABCD2135 (d ABCD3124

30. Fufafea # frve WRa & ot IaeT A |aifas
3= %’? In India, which one of the following has highest
contribution in energy production?

(a) TRHET oI (b) Sl
Nuclear energy Water energy
) STl d) SUdad Tt & SRIER S

Thermal energy |
Equal contribution of all the
above

fafaf@a gma & 9@ $19-91 9URY o AT
I eI BIG] %? Which one of the following sets

makes the terminals of the ordinary torch cell?
(@) & -@eA (b) HR- SH
Zinc — Carbon Copper —Zinc
) - Fsfmm (d) PET- R

Zinc — Cadmium Carbon — Copper

32. 9T IUSRV &l IS Hul d fAggd St
qﬁ'ﬁﬂﬁm%,agm%—Adevice which converts

chemical energy into electrical energy is called-

(@) WX (b) SRR
Motor Generator
) TfoHH Bigd Hiex (d) ot
Moving coil meter Battery

33. ﬂﬁﬁlﬂﬁﬂjﬁuﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁﬂﬂﬁﬁ%ﬁﬁﬁ

T Fe A TEt I BT T9T
FEll-1 (STt wuraRon) ﬁiﬁn(ﬁlm)
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A. ST R dgqd 1. PR 9T
B. eafy & forg fagga 2. TP RuaeR
C. ST | ST 3. AeSAHR

D. VMG A SHITI US4, AR Ao

Match List | with List Il and select the correct answer using the
codes given below:

List-1 (Energy Transformation) List-ll ( Device / Process)

A. Heat to electrical 1. Car breaking

B. Electrical to sound 2. Nuclear reactor

C. Mass to heat 3. Loud speaker

D. Chemical to heat and light 4. Solar cell
(@) (i) and (ii) (b) (i) and (iii)
(c) (i) and (iv) (d) (iii) and (iv)

34. WIEHIA4 3t A R AIESH1ad oyd ST ITENT EaT g,

dg % — Microwave tube used by microwave oven is-
(@) fREHTIAACHSsE (b)) fRREH aE
Klystron and magnetron tubes Klystron tube
(©) WHgHE (d) gf@TdaeE

Magnetron tube

35. fH A AP HYT I 72

Which of the following statements is incorrect?

() IGAFFARUIRE  (b) TBRI DI Al oA, ST

Traveling wave tube

TRl B! AT ST gATad CRUIEIGSEIEEIRE

ERIEIEIc k] eHIUTd Bidl 8, fordes
The special rubber tyres of PHRU BT e fearg
aircraft are made slightly é—m%qﬁ?éﬁ%

conducting. The blue waves are scattered
more than violet waves of light
so that sky appears blue not
violet.
) TMosSidgaErgsn  (d) SaRidueRisid
FUTHNS & BIC e S aTet a1 H U
@1 b T PR 5 | S A Bt g
A comb run through one’s wet ERIRSSIE NI

hair does not attract small bits Vehicles carrying inflammable
of paper. material usually have metallic
ropes touching the ground.

36. MY 3ATeR-qET A SR F A I 32 ¢ afsd (Rereh) |
T P I&T & g 3y g -
You are traveling in a storm. What will you select to get
protection from lighting?

(@) BRAIB (b) US S A IROTTAT

Stay in car Shelter under the tree

() TRFPARTHAR (d) Fodcadfdega ™ o
o ST Eall

Come out and lie down on land  Touch the nearest electric pole

37. TR %ol &t ugrdt § ot gt 9 WA HR Al §
HEA 8-
X-rays which enters deep into the material are called-

(@) ®HTTTT-fxul (b) I TH-faxTl

Soft X-ray Constant X-ray

Page 77




PREP-E-BOOKS

(c) HoR UR-fHuf (d) SHHFAAIDE 6l

Hard X-ray None of the above

38. afed (faoreht Tue-m) & g&ar A omr off @ Tt 8,
e 3'\‘I'el 3reafire arm # Eﬁ?‘ﬂ % Lightening can even

burn a tree because it contains tremendous amount of
(@ SHIHwl (b) fagga S
Heat energy Electric energy
) IEfE Kot (d) eIt

Chemical energy

39. Ffufae & @ 5w awfe 3 ol @1
Frd e fFaw ﬁ'CIT YT? Which of the following scientist

propounded the theory of gravity?

Nuclear energy

(@) FUR (b) ARy
Kepler Galileo

() e (d) PIRAF
Newton Copernicus

40. Wifos) & agd smary w1 fear ur-

The fourth dimension of physics was introduced by-

(@) A (b) SMEEAA
Newton Einstein
) Teiferar s d) TaIRA
Galileo Niel Bohr

ygfaRor Wes vaq @t = | Fafaf@e § @ o= St
T g9 %? In order to keep the environment clean,

which one of the following energy source is best?

(@) IRIA (b) NPT fa@usa
Solar cell Nuclear fission
(c) Ucifery 3@ (d) TI-3dG

Petroleum product Forest produce

42. B AR AT GERG
Photovoltaic cell is related to
(a) IR (b) TSI
Solar energy Nuclear energy
) TS (d) MU S

Wind energy

43. Rgga-geea i sTrangar e

The velocity of electromagnetic waves is
(@ 3x108 ms- (b) 3x107 ms?
(c) 3x106ms? (d) 3x105ms?

44. FRifran fRufaa &1 fAeM $319 & o wv.em.aens.
ADIP BT IUANT farar oIraT 1 TH.3R.3mS. A fpasn
B'q'lﬂ"T qﬁ @Tﬂ %? To diagnose the medical conditions
MRI technique is used. Which is not used in MRI?

() BT (b) Tg-famur

Magnetic filed X-ray

Geo thermal energy

(©) & (d) TR

Radio wave Gamma ray

45, FrafafEa o 3 $19 ug o gR snfdbua 7Y gan

Which one of the following metal is not attracted by

magnet?
(a) @l () fPa
Iron Nickel
(c) PEwe ) TgHtEg
Cobalt Aluminium

46. Tt 3ify T gRTWTW SRpaR AU EaT e -

Maximum temperature achievable by any superconductor
is-

(@) 24 PfedT (b) 133 Pfed
24 Kelvin 133 Kelvin
(c) 150 bfea (d) 300 bfea
150 Kelvin 300 Kelvin

47. FUSH! (Bigd) B = (turns) B! TTT TgH A THHI

aﬂwl%r By increasing number of turns in coil, power
of magnetic field

(a) SrRafdd gl s (b) UE Wl g R uedi g
Remains unchanged First increases then decreases
(c) wHedl® () Sede

Decreases Increases

48.wﬁg€ﬁwaﬁwm%a’r§wﬁﬁmﬁm
GTQ' =

If a magnet is cut into two pieces of equal length, then-

(a) CFIgHS AT PEHA (b)) U ghel ST Ulel' Pt

e TRE BT BT 3R GIRT
Both pieces will lose their Saof Ofd &1 ave
magnetism One piece will work like North
Pole and second will work like
South Pole
(€ STHITHIHSIANUAT  (d) <HIghs Tyl gEs
TEH @l Tl DI R B BT

One of the pieces among them Both the pieces will work like a
will lose his magnetism complete magnet

49. THHIT 3 5 TP Hhd B 32

Magnetic needle points towards-

(@) Td East (b) TS West
(c) 3R North (d)  STPIRT Space
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ANSWER KEY

Ques Ans Ques Ans Ques Ans Ques Ans
Type Key Type Key Type Key Type Key
1 B 16 D 31 A 46 B

2 A 17 C 32 D 47 D

3 B 18 A 33 A 48 D

4 B 19 C 34 C 49 C

5 C 20 B 35 B

6 D 21 D 36 A

7 D 22 D 37 C

8 B 23 D 38 B

9 A 24 D 39 C

10 C 25 A 40 B

11 B 26 B 41 A

12 C 27 B 42 A

13 B 28 C 43 A

14 A 29 B 44 B

15 C 30 C 45 D
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